NCL -Written test for the Post of Technician Welder (Trainee) Cat. II, in reference to E.N. 466/10-07-2020, SET A

Section A (Question No. 1 to 70)
1 [ Which of the following gas is essential for fire? | 3T & [oTT FAIAd | O DI I 19 TP &2
A) Nitrogen B) Carbon dioxide A) -‘-|13€|T:F[A B) PTe SRS
C) Oxygen D) None of these Q) e D) 390 A PIs Tal
2 | Which of the following gas percentage is | FufiRaa A P W T o1 ufa=raarn TgHS A T
maximum in atmosphere? gaifere g2
A) Oxygen B) Nitrogen A) SRS B) TS CIoM
C) Acetylene D) Co, C) Tffee D) Co,
3 Which of the following is not found in non- &Iﬁ_s' oy ‘c‘ﬂﬂ\”ﬁ H fFafaRea § 9 oar 98t urn
ferrous alloys? SArg ?
A) Lead B) Tin A) B) fea1
C) Zinc D) Iron C) ST D) &gl
4 | Which of the following welding process uses | FafafRad # ¥ & It afT ufear IR-Iuxsy
non-consumable electrode ? TATEIS BT IUUNT BT 87
A) Gas Tungsten arc welding A) g e 31 afesT
B) Shielded metal arc welding B) URRfard urg 3{Th afeeT
C) Co, Shielded welding C) Co2 URRfEa afegm
D) None of above mﬁlﬂ Y B3 T8t
5 | Heat is created by the chemical reaction in ﬁmﬁ T 3 oy I ufshar § 1 &1
which of the following process? fmfor grar g2
A) Resistance welding A) UfeRiy afeT
B) Friction welding B) TNUT AfeET
C) Tungsten arc welding C) STRe 3T AfeT
D) Thermit welding D) yAige afeeT
6 | The heat generated (H) in resistance welding is | UfoRIY dfce? H I0d ™1 (H) fhd UHR aaad
expressed by: CARSIGIRK
A) TRt B) IR’t A) PRt B) IR’
C) IR¢ D) 2IRT 0 IR D) 2IRT
7 | The voltage needed in resistance welding does | TfeRTY afeET & 3awae diees fovg WR AR &Y
not depend upon: PATS ?
A) Composition B) Area A) T B) & d
C) Thickness of weld D) Length of weld C) dcS BI Al D) AT &I daS
8 | Which of the following is not a resistance FafaRad o 9 &1 Te Uikl dfee T T8l 6 ?
welding? A) Wic afedn
A) Spot welding B) e dfcg™
B) Butt welding C) <19 afcdm
C) Pressure welding D) 3{TaTd afeg™
D) Percussion welding
9 Which flame is suitable for cutting operations? P T ol BT Bl b f%nz Sugad % ?
A) Neutral flame A) gcd al
B) Carburising flame B) Wﬁ%ﬂ'{ i
C) Oxidising flame C) 3iTRfiHuT o
D) None of the above D) SWRId # ¥ PIs Tal
10 [ In arc welding, the three clements to be | 3T AT H, GO AfcST TJATAT U HA
controlled to obtain satisfactory welding | ¥ forg fafd feru oM 9@ & I IR 2
operation are: A) BIE, deesl 3R I BT i
A) Current, voltage and speed of travel B) e, dlecl 3R 3Th Tallg
B) Current, voltage and arc length C) BC, 3T IS 3R AT B i
C) Current, arc length and speed of travel D) dlecdl, 3fTdh daTs 3R a1 B i
D) Voltage, arc length and speed of travel
11 | The commonly used flux in brazing is: i T THAIR R IIIHTA g dTd] Faa] T 82
A) Rosin B) Borax INRUCE B) SR&Y
C) Lead sulphide D) Zinc chloride C) s gwss D ISEEESIRES]
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12 | Projection welding is....... TTOTaRA AT e gl
A) Multi-spot welding process A) Aed]-Wie IfcdT ufdran
B) Continuous spot welding process B) FARaR wie afed T ufspan
C) Used to form mesh C) SiTetl S99 & forw IuamT fpan Srar |
D) Used to make cantilevers D) dfeeitar 9 & forw Iua fovam wrdr @
13 | Seam-welding is......... ?ﬁ'ﬂr AR e =
A) Multi-spot welding process A) Hel-ie afedT ufshar
B) Continuous spot welding process B) FARaR wie afedT ufspan
C) Used to form mesh C) STl S & fore Iu fopan Srar @
D) Used for welding cylindrical objects D) SATHR a3l & afes™ & e Iuam
ERISICIN
14 | In reverse polarity welding....... ad graRkdt Al # ...
A) Electrode holder is connected to the A) SUACIS YRS 71T | Y31 81T & SR BT
negative and work to positive gferfea 9
B) Electrode holder is connected to the B) SAdCIS YR UivIed T IST 8T & 3R Hrd
positive and work to negative Ifegw
C) Work is positive and holder is earthed ) B uifvifed BT § 3R YR yIufdhd ferar
D) Holder is positive and work is earthed fare
D) YRS UTuifed BiaT § iR SR yEufhd faman
gidl 8
15 | Flash butt welding is....... TR TC AT R corerrrrree
A) Gas welding A) 1 afeET
B) Arc welding with straight polarity B) T ¢fad & 1Y 3T AfeT
C) Arc welding with reverse polarity C) RRa¥ gfaar & 91y 341 Afedn
D) Resistance welding D) UfaRiy 3fcdT
16 | Preheating is essential in welding for...... | ... afed o forg ElﬁFITCF{ HRAT fohafery el 62
A) High speed steel ~ B) Stainless steel A) BTS Wig 33T B) STRIL ST
C) Castiron D) German silver C) TafPpd aigT D) 9H RIear
17 | Weld spalter is....... J@ WeeR | ...
A) Flux B) Electrode coating A) TR B) Qﬁaﬁj_s’ PIfeT
C) Welding defect D) Welding test C) Af®T D) afcg™ Ut
18 | In MIG welding helium or argon is used in | MIG afca™ ¥ gifcrad AT 3T BT IUTNT fohy ferg
order to...... fearsmare?
A) Provide cooling effect A) Tfaa UHTE Ue H34 & forg
B) Act as flux B) KT & U H T 3+ & g
C) Protect electrode C) TAFCIS DT FRI& B & fog
D) Act as shielding medium D) URR&U H1HH & =0 § B B & T
19 | Oxidising flame is used to weld metals like....... SHTeRAHRUT Al T SUANT fHHferad b &N Bl
A) Steel TS B & forw fpar S g 2
B) Copper and brass A) THId
C) Carburised steel B) diaT 3R tidd
D) aluminium, stainless steel C) vaferd e
D) TegHiad, SRIdh 3¥ura
20 | Acetelyne is stored in gas cylinder in....... wRifeedy 19 Rdsr & f5g wu & dufea fean
A) In gaseous form B) In liquid form STe ?
C) In solid form D) All of above A) g =g & B)gd U H
IR R D) IWRIad Tt
21 | Neutral flame is used to weld metals like...... Icd 1 BT SUART AFIRad fob UTgal Bl des
A) Steel B) Copper and brass | & & forq fasar Sirdm g2
C) Carburised steel A) 3T B) il 3R Wad
D) Aluminium, stainless steel, zinc die C) Ugferd Wi
casting, nickel, monel etc. D) TegHifad, SRYet 3¥UTd, SRl BT H1RReT,
firere, BHa anfg
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22 | The distance between root and fillet weld is FCRPacdEFIADIGU DI gl
called: ST 8
A) Reinforcement B) Leg length A) Swrdde B) AT Y
C) Root gap D) Throat thickness Q) &C g D) Yie feg
23 | The principal material used in soldering are: @RI H SUART DI S aTeit T St g
A) Tin and copper B) Copper and lead A) o 3R afar B) dfeT 3R I
C) Tin and lead D) Zinc and lead ) fe SR A= D) ST 3R T
24 | In fusion welding process, penetration is the | /IelH dfee™ Ufiehar o, 3fddyd Fofafed & ¥
ratio of’ fgaeT STUTd %?
A) Depth of weld to length A) 3T B TTERTS SIUTd daTs
B) Depth of weld to width B) IS P! TTERTS 3UTd AISTS
C) Width of weld to depth C) AT P ANSTS U TERTS
D) Length of weld to depth D) dcS Pl deTS U TeRTS
25 | Forge welding is classified as: Bol diceTl & [ UHR fﬂm T g2
A) Fusion welding with pressure A) SaTd & 1Y TS AT
B) Fusion welding without pressure B) €&Td & forT LSl afe&T
C) Non-fusion welding with pressure C) T & 1Y - REE] af&n
D) Non-fusion welding without pressure D) &a1d & faT AH-TRIe afedT
26 | Which of the following statement is not true | ToR &1H afcET Uldhal & ey # FHfalRad & 9
regarding laser beam welding process? S T HYT Tel T8l 27
A) The process uses amplified light energy as | A) Ufghar IfET & Fd & =u H yafdld usmm
a source of welding Sl BT YA Bt &
B) The process essentially requires vacuum B) Ufshar # iAo U J aazﬂ:[ EARICESE I
C) Power density of laser beam is much higher | gft g
compared to an arc welding process C) 31 AfeET ufsear & SRl o ooR g
D) All of the above T 9T 9 S 2
D) SWRIe T4

27

In plasma arc welding process, the plasma is
generated by:

@ISHT 3T dfce™ Ufpar |, wiedT fbads grRi
I BT |2

A) Low frequency AC voltage A) &Y qfT TH dlec
B) Low frequency AC current B) ®H aﬂqﬁ[ il #ie
C) High frequency AC voltage Q)3 \;nqﬁ.[ T dlees
D) High frequency AC current D) 3= mﬁ[ Tl B
28 | Backfire, a small explosion of flame occurring TideacH, kAl % Bicl [dTpie e R R gH
at the tip torch in oxy-acetylene process is due | qrefl 3ffer)-uRyfeei ufspar & f6g HRUT BT 82
to: A) 719 &1 Ca1d §gd HH Bl
A) Gas pressure setting too low B) 3fferdw Aroret
B) Nozzle overheated C) PIe- AY GRT 3ABG ol g
C) Nozzle orifice blocked by carbon deposits D) SR & A B1E ot
D) Any of the above
29 | Which of the following combination provide | FafaiRad # ¥ &H I JaioH I=dH dgAH
highest temperature? UaH Hdl g7
A) oxy —hydrogen B) oxy-LPG A) HTRF-gT2S oA B) SHiodl-uet Ut Sit
C) oxy-acetylene D) Air-acetylene ) SHirdt-ufdyfee D) arg-TRifedi=
30 | What is the purpose of flux in soldering? s o Tea 1 I T 82
A) Prevent formation of oxide A) 3HTHISS & TS DI AHT
B) Lower the melting point of solder DEISRRINEICT DI HH B
C) Wash away the surplus solder Q) ST TSR I T
D) All of the above D) SWIad gt

31

For ultrasonic welding, thickness of metal is
usually restricted to:
A) 3mm
C) 12 mm

B) 9 mm
D) 15 mm

mmarm%m oTd 1 HIeTs SHAR IR
e wferafd et 22
B) 9 e

A) 3 foET
Q) 12 foeit D) 15 fet
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32 | The welding position in which an electro slag | 3fET Rufd fo/H & Sarae! W af’dT s
welding operation is performed is? fopar S1aT 8 T 82
A) Flat B) Horizontal A) TUeT B) THIRIT
C) Vertical D) Overhead C) Ifsad D) RRIUIRR
33 | What is the function of a gas regulator during a | 19 3fET S & SRA T e &1 71 HRf g2
gas welding operation? A) fafts geR o1 o U BT
A) get the different type of flames B) 3TARTP 3IUTd & g e
B) Mix the gas in required proportion Q) Wﬂ o 984 arell 9Y &1 731 deaTn
C) Change the volume of gases flowing to the | py ®RfeRt g/ @1 Myl
blow pipe
D) Set the working pressure
34 | Metal active gas arc welding uses which of | U1 Gfeha N 31 dfcd™ Fafaied o 9 forg T
following gas? BT FUTNT IRl 82
A) Carbon dioxide B) Nitrogen A) HTE TEIHRZS  B) ASSIoH
C) Argon D) Helium C) 3 D) giferaH
35 |In DC welding, straight polarity is | SIf afcE™ |, Weft gataar ot wxgfa HaferRad o
recommended for which of following case? J forg fRUfT & bt o1l 272
A) Welding with heavy coated electrodes A) YT At Saidgis & Iry afesT
B) Welding with light coated electrodes B) eh! WU Salacls o WY afeaT
C) Sheet metal working C) e urg st
D) Welding with super heavy coated D) 3 HRY A 3 IS F Ty AfRT
electrodes
36 | Among the following, which of the following | F@faRad # 4, 9 & ¥ @4 I ufd gfc v9a o
deposits a large amount of weld metal per unit | 3G T P U TSt [T STHT HAT 87
time? A) 8 BrEgIoN seagls
A) Low hydrogen electrode B) YR} Aifid SoiagIs
B) Heavy coated electrode C) AIg USSR SAHIS
C) Iron powder electrode D) el U5 ENEEE
D) Deep penetration electrode
37 | Arc length in an arc welding process should be | 37T AfET UfpaT & 3MMh HI daE ATHT fhad
nearly equal to: ERELEERIRE
A) diameter of electrode (d) A) SUICIS HT TN(d)
B) 1.5d B) 1.5d
C) 2d Q) 2d
D) 3d D) 3d
38 | Which of the following property of cast iron | Haldd dlg ! (¥ URAHIT & DHRUT A0S DAl
makes it difficult to be welded? 'E[W BT g?
A) Low melting point A) HH TTeHIh
B) Low fluidity B) ®H UdTiedl
C) Its hardness and brittleness C) SHD! HOIRAT 3R IRl
D) High compressive strength D) 3= Tts e
39 | The selection of nozzle for pipe welding | UI3U dfcET & forw Aol &l T4 g W AR
depends upon: PHIAT 8?7
A) Groove angle A) Jd BIOT
B) Pipe wall thickness B) UTSU dTdl HITS
C) Pipe diameter C) TS g
D) All of the above D) SWRId g+t
40 | Soldering iron is made of copper due to which | eTeT T Tl <Nl BT HRUT did A &1 BldT &2
following reason? A) T8 U g
A) Itis heavy B) &SHT &1 HATqI &
B) Bad conductor of heat C) ATy IR 3ifde
C) Thermal expansion is more D) $TAT &1 YAaH
D) Good conductor of heat : ¢
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41 | A collimated light beam is used for producing | T TuTfew UHTRI fH 0 &1 ITART fobg H SHoAT
heat in: WW%%’QWW%”
A) TIG welding A) & 3rmg Sft afgm
B) MIG welding B) UH 3MTS off afcg™
C) Percussion welding C) 3fmaTd afgm
D) Laser welding D) AoR IfeET
42 | Which of the following is used for eliminating fooTctt & SR At 3T B WH B & forw Ay
the fire caught due to electricity? 7 9 fgeT S feur S g 2
A) Using oil A) dd BT IGINT
B) Conductive agent fire extinguisher B) UATE 1T 3IIRMTHS Tole
C) CO, fire extinguisher C) CO, 3RS
D) All of these D) I g+t
43 | The presence of which gas in the weld metal has | 9e8 41q & fbg T Pt JURUFT F HRUT GRR BT
harmful effect leading to crack? BINPBRS UHIT USdT 82
A) Oxygen B) Hydrogen A) SHTRfeH B) EIRSISH
C) Nitrogen D) None of these C) AgeIe D) 37H ¥ PIs el
44 | The word ‘LASER’ is an acronym for which of | 'LASER' Rleq Fufefad | O feae fou ue dféa
the following? I 82
A) Light Amplification by Stimulated A) TIEC URAWIHIH §18 TIdcs TR 3T
Emission of Radiation ISy
B) Light Augmentation by Stimulated B) T3C 3MMHTM §T8 TIHaes TR 3ifh
Emission of Radiation e
C) Light Augmentation by Sustained Emission ) @Ee SR 9T Guc S URRH o
of Radiation RRDEE]
D) Light Amplification by Sustained Emission TRAEIPT ST TEe T aff
of Radiation géﬁaf]?q ’ i o
45 | Sugar at Rs.15 per kg is mixed with sugar at | 15 ¥ foal Tt 20 ¥ fHall I & TY 23 &
Rs.20 per kg in the ration 2 : 3. Find the price | 3qurd & faf¥a &t 9kt g | e &1 geu ufd
per kg of the mixture: o5 7. 31d pIfSR:
A) Rs21 B) Rs 17 AT 21 B) T 17
C) Rs18 D)Rs 19 Q)T 18 D)% 19
46 | If five items are bought for Rs.345, Rs.375, | 3R U™ a¥g ¥ 345, Rs 375, Rs 225, Rs 255 3R
Rs.225, Rs.255 and Rs.300. then the average | Rs 300 Hed WR WRIc Sl &, oY 9% &7 3iId Yoo
price of the item is? I %?
A) 340 B) 350 A) 340 B) 350
C) 280 D) 300 C) 280 D) 300
47 | A man goes to Mumbai from Allahabad at a | T 3fTGHT 40 fohHI/EeT ﬁﬂﬁrﬁwﬁaaé
speed of 40km/h and returns with the speed of | SITdT & 3R 60 fHHl/gier @t fd ¥ ded 81 T
60km/h. What is his average speed during the | IET % SR ITeb! N Tfd T 22
whole journey? A) 50 Tl et B) 48 fopeil/der
A) 50 km/h B) 48 km/h C) 45 faHl/eer D) 52 fari/Eer
C) 45km/h D) 52 km/h
48 | If V15 = 3.8729, evaluate (V5+V3)/(\V5—3) gig V15=3.8729 §, @ (V5+3)/(V5-V3) i
A) 4.7289 B) 6.8729 Pifor:
C) 7.8729 D) 8.8729 A) 4.7289 B) 6.8729
C) 7.8729 D) 8.8729
49 | Mohan can finish a job in 60 days whereas Ram g Th 1 BT 60 fef A R Pl % S&id IH
can finish the same job in 20 days. If they work | I &1 @ 20 f& & 1 Hxar 31 TS A TH WY
together the job will be over in? ®Td B § d B e fot & g1 gme
A) 15 days A) 15 faq
B) 30 days B) 30 fa=
C) 80 days C) 80 g
D) 40 days D) 40 71
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50 | A train 140m long running at 60kmph. In how | T& 140 Hiex dal a_rf 60 fopH Ul B¢ ®T AR 9
much time will it pass a platform 260m long? @E?ﬁ 81 260 HeX 9 WewiH B UR & |
A) 44 sec B) 24 sec a1 I9g dT?
C) 36sec D) 58 sec A) 44 THS B) 24 Ih S
C) 36 Jbs D) 58 Ybg
51 | If cos§=—3/5 then find tan6, where 0 is an angle | Tl cosd=-3/5 Tl tan® Td P, S&l O g
in the second quadrant: ﬂﬁﬂf-‘ﬂ H Bir %‘:
A) -4/3 B) -4/5 A) -4/3 B) -4/5
C) 453 D) 3/5 Q) 4/3 D) 3/5
52 | The length of the longest pole that can be placed | 10 HIeX x 8 HIex x 6 HIeX AM & TH &I H
in a hall of dimensions 10 m x 8 m x 6 m, is: T T b Tl g9 el Y Bl ddTg fhd-t
A) 9m B) 8V2 m anfie
C) 10\2m D)1lm PEE:i B) 8\2 it
Q) 102 #t D) 11 #t
53 | What is the value of (sinl50+c05150)2+(sin150— (Sin15° +cos15%2+(sin15%-cos15%?% &1 A &1 %?
cos15%)%? A) 1 B) 2
A) 1 B)2 Qo D) -1
)0 D) -1
54 | If the surface area of cube is 486 cm’, then its EI'EEREEBCPJ AT 486 THI % RERCIRSILGE
volume in cm’ will be? e | 1 gRm?
A) 729 B) 625 A) 729 B) 625
C) 743 D) 216 C) 743 D) 216
55 | Three cubes whose edges are 8 cm, 6 cm and 1 T T P fHTR HHE: 8 @Iﬁ, 6 94T 3R 1
cm respectively are melted without any loss of | It § I fa1 fapelt &g Jepu=1 o foreretran St &
metal into a single cube. What is the edge of 3R IV TP g9 AR fha1 1 88 | TT O BT
cube? oI R TR
A) 10em B) 9 cm A) 10 It B) 9 gt
56 | Guided bend test is used to determine which of | TS T dg ¢ & IUUN Fuferfad A I Faw!
following: fruffd s % forg faar e g7
A) Tensile strength A) I Tfed
B) Ductility B) d=udl
C) Impact value C) UHTd ged
D) Percentage of elongation D) q@ giereTedr
57 | What is the effect if the tungsten electrode tip | SR gaacre feU fUue 3R dte UTg UR ST
melts and deposit on the weld metal? TH TR T U4 gsdl 7
A) Stabilizing the arc A) 31T fRRAT
B) Crack B) AR
C) Lack of fusion C) WIS T 3HTT
D) Contamination in the weld D) dcs § Tgwur
58 | Which welding procedure is safe to perform in | 99 3R H &4 & AT S AT dfcgT Ufham
wet condition? g g g2
A) Oxy-acetylene welding A) e -ufafee afegT
B) Arc welding B) 3MTeh afcaT
C) MIG Welding C) TH 3 S Afee™
59 | Which of the following low heat input electrode | FERIRIT & T H1 W 9 HoAT M ATIS BT
is used for repairing cast iron work? JUINT BRE TSI d Pt IR T FT STl 87
A) Monel electrode A) HHd SAaerS
B) Low hydrogen electrode B) MY gISSIoH SaiagIS
C) Silicon bronze electrode ¢) Rifee wia A
D) Tungsten electrode D) ¢TRe 3AdRIS
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60 | Which type of joint is used for spot welding? Wie dfcET & o fohd TR & Sige BT SuanT
A) Butt joint B) T joint farsmar g2
C) Lap joint D) Corner joint N Gﬁ'g—d B) & Gr‘f's:‘cf
Q) ?rq m:f"\r Wige
61 | Low hydrogen electrode are baked prior to use | M7 gZgIoH dacis ﬁ B'CI'Ch'lT ¥ Ugd foy forw
in order to: e I 87
A) to obtain proper strength A) 3 gmEd Ui B & forw
B) make welding free from arc blow B) AfcET 31T ek T Tad HRA & fog
C) make welding free from moisture pick up C) afed™ 7+ Ifed s & forw
D) minimise the required Current D) < P ATl FAdH P b oY
62 | Which of the following welding process uses | Fafaf@d & ¥ oAt IfET ufpar Iuvsy
consumable electrode: sﬁﬁﬁj—s’ BT IUTNT BT 82
A) TIG B) MIG A) 2 3mg Sft B) UH 318 Sff
C) Thermit D) All of the above C) YHTge D) IWIad It
63 | In coated electrode rod in arc welding which of | 3 dfcdT # dfid Ioacle Vs & aR
the following is correct? faffad § @ o 91 oY= 98l 77
A) Both rod and coating melts simultaneously | A) IS 3R PIFET G U A1 frarerd §
B) Coating melts first and then rod melts B) PIfET g forgad % iR s gt %
C) Which melts first depends on polarity used | C) &1 Ugal fUucHT 3 STAHTA B T AR W
D) Rod melts first and then coating melts AR w3ar %
D) S g firgerct & fihx i fUaerch 3
64 | What does the 3" digit number “2” represent in | SAGCIS EB5426HUX & THIUN A i RIM WR
the classification of electrode ‘EB5426HITX’ ? | 3ichl &) T=ATH "2 &1 S-ITaT 27
A) Polarity A) Tt
B) Welding current B) afcdT e
C) Welding position ¢) afcgT fRufa
D) Type of flux coating D) Fie] 1T BT UhR
65 | Which of the following electrodes can be used | fFRHferRad 3@3@3 7Y o I 3@3@‘5’ T 3R
on both AC and DC welding machines? it e AT A ) XA &1 o gepell &
A) Mild steel coated electrode A) ] ST AfUd SAaeS
B) Aluminium electrode B) T Sadgis
C) Bare metal electrode C) 3(eT g sﬁaaj:r;
D) Carbon electrode D) CAGE] ESESSS
66 | The unit of measurement of EMF _5c TH U (ﬁﬂ'{]}[ dlgd dd) & AU DI ETIFIE? T
(Electromotive Force) is: 2
A) Ohm B) Volt A) 3NH B) dice
C) Ampere D) Watt C) TR D) dlc
67 | Which of the following welding process is | Fafaf@ad # § o O AfET ufdhar X o1 gelRal
widely employed to weld railway rails? P A B & 0T AUS ¥ F YA BT STt
A) Thermit welding 2
B) Ultrasonic welding A) YHTSe AT B) Sfegriah afed
C) Explosive welding C) TG afegT D) RPpa-  afed™
D) Percussion welding
68 | Which of the following should not be used on fofafed & @ o1 79 Ry, W 3R &g
gas cylinders, regulators and holes? TR SIIATA el [T ST A1eW?
A) Teflon tapes B) Leak detectors A) THRAE 2T B) oitep feaer
C) 0Oil D) Wrenches o ad D) =
69 | The flame starts burning away from the tip, this | Tf¢ 3T i H g ol ol Al S MHfRId H
can be corrected by which of following way: frg e T S far &1 Gobar &2
A) The pressure of gases is to be reduced A) G} &1 <d1d HH B
B) Cool the torch B) TRITS P ISR
C) Decrease the volume of oxygen s
D) Orifice of the nozzle is to be cleaned (D:)) o P g?ﬁ g
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70 | Incomplete fusion during welding is due to | AfET & IRM 3l WH FUfRId fFg HRO
which of following reason? ERIBIAT 87
A) Very high current A) 9gd 31 PR & HRUI
B) Very low current B) 9§d &Y P &b HRUI
C) Very wide weld bead C) Sgd %S T e P HRU
D) None of the above D) SWIad & J IS 8!
Section B (Question No. 1 to 30)
1. First country to appoint Lokpal or equivalent AP U TT AIDUTA b JHDE ﬁ'ﬂ_cﬁ HA
to a Lokpal is: TN Ugel o FgfaRad § oF a1 82
A) Brazil B) Burma AT ( pgaf (
C) Sweden D) India
cHlE ( DHRA (
2. Which country is the largest producer of Rice? | ITdd P oy 39w RICIEED a"{[ ﬁgﬁr@r—r
A) Brazil B) China oI e?
C) United States D) India AT ( i (
Cﬂg_aﬂ RIS ( D (
3. The leaning temple of Huma is dedicated to GHI DI FhT gofl Tfer m f%‘g YT Bl
which Hindu God? gafid g2
A) Shiva B) Rama
C) Krishna D) Hanuman é@;ﬁ ( EWET;W (
4. The journalist who refused to accept ‘Padma o/ 9 e R 7 U=l yyur P GIHR B I
Bhushan’ was? SAHR o foa o, Agfoied & ®F g2
A) Shekaran Nair B) Khushwant Singh A) R AR B) w ﬁITS'
C) Ratan Thiyam D) Arun Shourie X R ( D) 3BT ElIEl]
5. | Rajya Sabha member has a tenure of? ITIHT Y- BT HIABT fbd-T aidl 27
A) 8 years B) 6 years A (8 TTd B (6 I
C) 4 years D) 2 years C (4 I D (2 9T
6. During an emergency all of the following | 3{TUTdehTa &t UM # Faferfaad | fea Hd
fundamental rights are suspended, except: PRI B Brew I Adfad #= 3 91d
A) Freedom of Association 2 ’
B) Freedom of Speech and Expression L & .
C) Right to Life and Personal Liberty A shfﬁer Gbs .
D) Freedom of Assembly without Arms BHINUT sifiafad T:Iﬁ RAAT (
CSita SR SfRiTa Wil 1 SISR (
D (BTYAR o {81 JHT I izl
7. The National Anthem was adopted by the T THT g§RT RV DI DI TR TT?
Constituent Assembly in: A) 24 TS 1949
A) 24" May 1949 TaR
B) 24" November 1949 B) 24 sz{ 249
C) 24" January 1950 C) 24 1950
D) 24™ June 1950 D) 24 N[ 1950
8. Who holds the power to increase the number of | fAHfIfYd F Q HIF Tai= <T@ &
Judges in the Supreme Court? IRl @) TR S B Qfad &l 82
A) Prime Minister B) President e Iﬁﬁ ’ '
C) Parliament D) Ministry of Law A ( B g % .
SIS HATTY
9. What is the International Date Line? &m‘@a RIDECEIE Sl %7
A) 1tisthe quuator ATG HFWW T (
B) Itisthe 0" Longitude B TE (0 0 AR %
C) It is the 90° Longitude 0 3R %
D) Tt is the 180 Longitude <) gg 90 NI
D) 180
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10. | What is the chemical name of common salt YR T9H BT I HD 19 H1 % o BH
that we eat? T &2
A) Sodium bicarbonate qifean Eﬂgﬁaﬁf
B) Sodium chloride A@%‘q‘q EIT“ﬁTIE_S' (
C) Sodium salicylate B (
D) Sodium hydroxide cHifgaH e (
DASTH BIRSIHIES (
11. | The gland in the human body which secretes | FTd YRR H U & T5H 3R gHM a1
both enzymes and hormones is: ARG G %:
A) Liver @Ppd
B) Pancreas A&I"IIT-‘QW
C) Salivary gland B . (
D) Pituitary gland CIR Ay ( .
DUt (TR
12. | Minorities Rights Day is observed in India on: | HRd T TS PR ﬁ_om GeeREGIR
A) 23" December B) 5™ September ST &2
C) 1% December D) 18" December A (23 odeR B (5 RideR
c (1 fadisR D) 18 fd¥sR
13. | Which Indian city has been chosen by the 59 R TR o1 3y §F 3 U7 9
World bank for setting up its back-office v carks ferw Exll %?
operations? et CAREAGI
A) New Delhi B) Kolkata A%jf; BW (
C) Chennai D) Bangalore C ( D (
14. | The largest herbarium of India is located at: URd HT I EE| Tl GBI Hal (=Ud
A) Kolkata B) Lucknow 2
C) Mumbai D) Coimbatore ADIABTAT ( Bm (
CHeE (
15. | Molten rock below the surface of the earth is gl DI gdg & - gl §§ T DI ﬁ'Ef RS
called? T SITll o7
A) Basalt B) Laccolith ASTEE ( BADITY (
C) Lava D) Magma CddI ( DHT (
16. | The Andaman is separated from Nicobar by | 3igHM P FPaR T 3T H 1A o
which water body? fFem Fafrfea d sm @ e
A) 11°channel B) 10° channel o e e
C) Palk Strait D) Gulf of Mannar é gl% o E)(:Il(;ﬂ ORI
17. | The Ghatampur Thermal Power Plant recently | gTql é’f o Pfeae GRT @qo_c[ YITHQR ?.rl:fa
approqu by Cabinet is to be setup in: TR Wie &1 ﬁ’f g fear ST %?
A) Rajasthan ARTOIRAT (
B) Uttar Pradesh ST T
C) Karnataka B (
D) Madhya Pradesh Chice (
D) A& T
18. | What is Dakshin Gangotri? cferon T Fefifld g S w2
A) River Valley in Andhra Pradesh A) 378 TR § 94} urdt
B) Unmanned Station in Antarctica sieTh et o Tg T%T‘f R
C) Second Source of River Ganga BTW 3 Wﬁ i (
D) Island in the Indian Ocean c o e at f{l iy (
19. | The International vJudicial Conference 2020 amﬁgh:[ RS AT 2020 BT TS 21
was held from 21* — 23" February, 2020 in: T -23 BRA, 2020 dob Hgfafad & 9 waf
A) Tokyo B) New Delhi a7 T
C) Paris D) Bangalore Pzt ( B:lfs‘ freeht (
CORd ( DITAR (
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20. | Which city is called the Silver City of India? | {6 eI &1 YRd &1 Ricar RIcY g1 SrdT 22
A) Jaipur B) Cuttack' ASRITR ( BHCH (
C) Kolkata D) Madurai CW (I@Ré
21. | Lord Buddha breathe his last at: HITdH g 9[ 3ifaw g9 ﬁy‘f?{@ﬁ a3 feg
A) Rajgir B) Bodh. Gaya JYH R 2
C) Sarnath D) Kushinagar AR ( By T (
CHRATY ( D

22. | Mahabalipuram was established by which qﬂmﬁw g Iorgy GRI Rﬂfﬁlﬁ far mar

dynasty? UT?
A) Pallava B) Pandya
C) Chola D) Chalukya é%hal i 5( ( E;Wg il (
23. | The Krishna Raja Sagara Dam (KRS Dam) is | W0 ISl AR S KRS §iE) fbg AT R
built across which river? fRaer
A) Krishna B) Godavari FwT Terad
C) Mahanadi D) Kaveri é'C[B'I:IT:i()[ ( BDEb—Ia?D[ ((
24. | Where is the Bandipur National Park? CIFEN QTQTC[ I Hel [RUd 82
A) Rajasthan B) Andhra Pradesh ARTSTRIT ( B3{TY U (
C) Karnataka D) Assam CW D3R (

25. | National Environmental Engineering Research | 3 glq qqiaqu 3(}1] TR \Hﬂﬂ‘éﬂ:[ I ﬁT

Institute is located at: R
A) Pune B) Delhi ﬁc_cﬁ
C) Mumbai D) Nagpur Ag(ga('ﬁ“ B DR (

26. | Araku Valley is a hill station and valley region 3RP g7et g Isg A R Th ]%F[ XY

s/iil)laigd iI} which state? B) Andhra Pradesh 3R et & &2
erala ndhra Prades I o T
C) Karnataka D) Tamil Nadu éﬁ% ( BD\;H;_I&'E:'_%
27. | Hampi is a UNESCO World Heritage Site | G701 U oIeh) 1Y SRR &I & Y
located in which state? fafefad fog Tsa o Ra 22
A) Kerala AP (
B) Andhra Pradesh i TR
C) Tamil Nadu B (
D) Karnataka O afma S
Debic (

28. | Rajiv i§ the br(?ther of Atul; Sopia is the. siste'r' NSIE] 3{dd DI ‘1-|'|'5c %; aifrar ﬁ:ﬁ?{ DI g8 %‘;
of Sunil; Atul is the son of Sonia. How is Rajiv 3qa Qiagr o1 aeT %| o9 9ifar 9 feg
related to Sonia? UHR Jafdd %7

A) Nephew B) Son i N
C) Brother D) Father é?l-ﬂﬁ ( /TS DB]%J,:T((

29. | A pole is 90 m long. It is colored in white, TH W™ 90 Hiex IS &1 TG 5: 6: 7. b UM
black and blue in th; ratio of 5: 6: 7. What is T ghe, BTl R NG T H I %| TH P
the length of the white part of the pole? e U T F‘Wlé fat %7

A) 30m B)15m A) 30 Ht B (15 7t
C) 20m D)25m
: C o Ht D) 25 Hi

30. | The simple interest accrued on an amount of 6 ITd & 3id H 9530 SUY P A W 3ol
Rs 9530 at th.e end of 6 years is Rs 2850. What | grejRur 197 2850 30 € | SATST &% Ufd=rd
is the rate of interest p.c.p.a? ufas &1 %?

A) 5 B)7 ’
C) 9 D) 11 A §5 B (7
c© D) 11
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Technician Welder (Trainee) Cat. I
Section A Section B
Question |[Correct |Question |Correct |Question |Correct
No. Answer |No. Answer |[No. Answer
1 C 36 C 1 C
2 B 37 A 2 B
3 D 38 C 3 A
4 A 39 B 4 B
5 D 40 D 5 B
6 A 41 D 6 C
7 D 42 C 7 C
8 C 43 B 8 C
9 C 44 A 9 D
10 A 45 C 10 B
11 B 46 D 11 B
12 A 47 B 12 D
13 B 48 C 13 C
14 B 49 A 14 A
15 D 50 B 15 D
16 C 51 A 16 B
17 C 52 C 17 B
18 D 53 B 18 B
19 B 54 A 19 B
20 B 55 B 20 B
21 A 56 B 21 D
22 B 57 D 22 A
23 C 58 A 23 D
24 C 59 D 24 C
25 A 60 C 25 D
26 B 61 C 26 B
27 D 62 B 27 D
28 D 63 D 28 B
29 C 64 C 29 D
30 A 65 A 30 A
31 A 66 B
32 C 67 A
33 D 68 C
34 A 69 A
35 B 70 B
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